O2022/06/12 M4 FEEFZ=ILERMRX KFEFNFHKAz ORl £1ag OHALEEKZ
O&FEF RILE®(3K), EMES(—). HREF(Z), HHEME (=)

oeAYSRS FHEE) 12=0 4 0 2 2 1 1 1 1
FTEBABEXRE (FNtR) 8=[1 0 3 0 1 0 0 1 2
O2BFEH849
F 1 ZAHAXEBEBEB=-HEERK
[FTiR KFEERE] £ 1 2 3 4 5 6 71 8 9
X ARITRITARRRKREEZR
() IRLES 600 5 3 3 0 0 0 0 0 1 0 1 1 0
() /IVERMA 500 6 0 3 3 0 0 01 0 0 0 4 0
(52) FERIKE 400 5 1 2 2 0 010 0 0 0 2 1 h
(=) EHEXER 200 5 0 1 0 0 0 0 0 0 0 0 0 1
(AREEFERX 250 4 1 1 0 0 0 0 1 1 0 1 1 1 hi R
(—) WR¥FFKH 000 5 0 0 0 0 0 0 1 0 0 0 1 1 &R —3
(1%45) BHEMX 500 4 3 2 2 10 0 1 1 00 0 0 OBk =3k - --
(=) BB 500 4 2 2 1 0 0 0 0 1 0 0 -1 1 kel - PUTK
(Z£) /NEFIRX 333 31 1 0 000110 1-20 Vank 28 e
% iEEEEXE -— 0 1 0 0 0 0 001000 O
A BTERRK -—- 0 0 0 0 0 0 0 0 000 0 O
=1 366 41 12 15 8 1 0 1 5 6 0 3 6 5
F 1 ZHAEAEBEBEBE=-HEERK
[ LB EK=F] 82 1 2 3 4 5 6 71 8 9
X HARITKRITARRRKREEZER
(B%) FEElSih 500 4 1 2 1. 0000100 1 2 -3 -
(;2) t*HRFHBIE 200 5 2 1 0 0 0 0 0 0 0 0 0 0 B - T . .
(—#— )EERKR—EBR 400 5 2 2 1 0 0 01 0 0 0 0 1 =% - o 30 78
() =HH#E 750 4 1 3 3 0011000 20 E - % =1
(Z£) )IEEEE 000 3 0 0 0 0 0 010 0 0 0 0 =k - h . -
A EREHK 500 2 1 1 0 0 0 0 0 0 0 0 0 O y=I=]
(Z) =REZRth 000 3 1 0 0 0 0 01 1 10 2 0 BRER =ik - - . -
() ZBARG— 750 4 0 3 2 01 0 0 0 00 4 2 s S i
(%) KR 000 1 0 0 0 0 0 01 0 0 0 0 0 =% ETEEEE
T sEAREER] 000 1 0 0 0 0 0 0 0 0 0 0 0 O =g
= BRE®R 000 1 0 0 0 0 0 0 0 0 0 0 0 0 A TR
% #SAREN -—- 0 0 0 0 0 0 0 0 000 0 O .
T ¥RESL 000 1 0 0 0 0 0 010 0 0 0 0 =ik
% ,%&'*i: -—- 0 0 0 0 0 0 0 0 000 0O . - :
T =SB 000 1 0 0 0 0 0 01 0 0 0 0 0 o =R
=—= Pra 000 4 0 0 0 0 0 0 21 0 0 1 1 =¥ A TR =¥ uﬂz B3
=Y .308 39 8 12 7 011 9 3 1 0106
B ¥ T R ZXBRE=-NEELXBRER [(BE] mamsCE) - NEFRA D) - FiEERA(5E)
[(FraKkEERE] A B B B — [&FE] *)i%ﬁn(:s ) - GHEEILE (40]) - ERER A (5[E]) - SEF 2 AR (60E]) - 88 (9E])
X O F B ITHITIRERRKRR[R® 7 (EE25%) EEERGR)
W SAEFSX 7.20 5 24 8 5 0 1 15115 410 [E#) ZEEXGH)
H {FEEERX 6. 00 3 15 53 5 0 0 0 3 0 0 2 2 0 0 [{{H&) /J\,gng-ffa(z[ 8@ 9[g)
sl N 9.00 1 6 20 2 0 0 0 1 2 0 1 1 0 0
=Y 9 45 161 12 6 1 1 9 3 1 87 10
Bf ¥ 3T R ZEXBE=ZNHEXEARR [KFR] FEE—H0D)- cHEHCD) =AkE—(20E) - FEEEHE4E 50)
[ BT KE] i . 2 B — (&) XxE&E9QEO 4m@)
X O F B THITIRERRKRRE| S [{HR] =4B—06@)
Lﬂmén 13.50 4 22 95 6 0 0 1 2 3 0 6 6 2 0
T EIK—ER 12200 3 16 55 6 1 0 0 2 2 0 4 4 0 0
£A7I<ffeu 9.00 1 4 18 1 0 0 010 0 1 10 0
= HE X 9. 00 1 6 20 2 0 0 0 0 1 0 1 1 0 0
=Y O 48 188 151 0 1 5 6 0 1212 2 ©

Boxscore generated by EasyScore - Copyrights 2018 OmyuTech. https://baseball. omyutech. com



